106 & % 4 % (106 = 10 # ~106 & 12 7 )



9 -
3%\' -

B 2B R RaE
2106 & % 4 £(106 & 10 * ~106 # 12 *

”F’B;? J-é

)

;g £ 77 8 R B T T R i
TSP ~ PMio ~ PMzs ~ | -
%4 INOz > THCINMHCICH, | o AEE RS E T ORISR |
S [~ Osh R ER j;f; T E R EFRE
R
Ea o k%
i i:é‘,b—ﬁ g_(Leq) o X PR e
o2 #&ﬁzﬁ’ﬂ—ﬂi‘*(l‘ma") 1% RSB %fiﬁpﬁgz%ﬁvi’mﬁﬁ% -
F | Lo g gy |0 E AR
I—max P12 }%@
s | L0=5.1050,9095)
o o Lmax .%?ﬁ%f—“’(ff AFMERG ERIE R RR
p*% o LegiF REWEN) Fpgmgd o
faa AEkG LRIESE LA
° Lx(x=5,10,50,9 BB F AR
0’25) I—max i ,[D%ET - H(lE -
fa o Leq &é—é’f‘ ,% s
BB L L, LesL. [P EEERASER
= B =) AERBTRIEFBE LD
¢ Lo A IE B R AR -
1. I—max
s [BRCREAW ARk 1 R R
, T5®E4 9 R pHed TR T RO R -
P s sngre un
mE S pH E -~ BT H L R A U
pa [MEEATRCET LR R0 AT I G R
L [ERCBFEACG| MAMEEBABAAE > AP A AR
k¥ FECHBEHEF| LA (RPI)3=% 5.00 @ 54 %
TR B0




&R

=]

TREEER

QPR

e~ Fipe @~ Ry
B~ B R A
Bt &HEB &M -
&~ B8~ 4~ B~ &)

[ ]
42
s
2|
T

AETRIEE T RIS E
B8RS SR IR
TR -

-

PR TR
LSS

o E HHp 2
% 3§ 500 = =
RN

AEA LSS £ 4011 P 25
#3948 1285 £ EH F A
BB F T R e A

TEYALFEL D




=Rl

oy |E T £ Rl B TR gV TR
s

AXETRESE
B TRl s CRRE)
AP ERNEEAE S
2474w > <32 5 523 4w > /|
)& 5 15887 im0 ¥ & 3
10473 4 > 43+ 27130 4@/ p >
PCU/p 3 22911 & f& 2] 4]
BLa A2 o
Lo wxE g VIC &3
0.106~0.152 » i g PR A%k &
P ABoa e ERE VIC
® % 0.302~0.358 > ig BRI
wy P AE a1 @RS Cae
| B T189 ) B (AL TR R AR
R 2397 4w <22 5 6744 0|
¥ 1 AlE 5 18789 4w 0 @ %
13213 4 > 43+ 33073 4@/ P >
PCU/p 3 27935 & f& 14 -] 4]
AR N
Lo wxE g VIC &5
0.131~0.178 » i & PRIk &
P ABeoa e ERE VIC
® % 0.373~0.419 > ig B RG>
kL Clixo
BeraFgag To 1) (K
BT B & EFEPRFRK
LA B 2D QMR
Z_PRFRRE L AR o

=f ok
=

Pl (=




=R

5% ZplIE P LRI 13 TR ——
LR

e

SRR R 2R
DN (N-R-SE R N RN
i T o1, s (GRREL)

A BP RS R IEBD L
12450 <32 5 141 4% 0 )
4] % 5 5338 4w & 5 4330
w0 3 9821 #w/p 0 PCU/
P L 7821 &4 A8 L
1‘#‘?’«&’ o @ A LU R
VIC & % 0.222 > i B PR 5%

ek

ORI T 1Jf§’]\ ,,ff,ap RIS
(% B 184w 4B L 162 4
JAlE 5 6029 4w P :
5599 4,3+ 11808 4w/ p »PCU/
P s 9207 B AlE S
L’%%Hfi" o @ AL U R
£ VIC & 5 0.237 > i B2 PRF%
KL BB
BraF g T ol s (k
BB )T LI &M PEERTE
KL A~B &~ B w % pF
B2 PRI KL A~B & o

SIS
=

e (=




